



ELSEVIER

Available online at www.sciencedirect.com

SCIENCE @ DIRECT®

Nonlinear Analysis 60 (2005) 775–796

**Nonlinear
Analysis**

www.elsevier.com/locate/na

A class of self-similar solutions to a singular and degenerate diffusion equation

Chunpeng Wang^a, Tong Yang^{b,*}, Jingxue Yin^a

^aDepartment of Mathematics, Jilin University, Changchun, Jilin 130012, PR China

^bDepartment of Mathematics, City University of Hong Kong, Hong Kong

Received 10 September 2003; accepted 23 September 2004

Abstract

In this paper we study self-similar solutions to the singular and degenerate diffusion equation

$$u_t = (|(p(u))_x|^{\lambda-2}(p(u))_x)_x, \quad -\infty < x < +\infty, t > 0,$$

where $1 < \lambda < 2$. The existence and uniqueness for the solutions are established. In addition, the asymptotic behavior is investigated.

© 2004 Elsevier Ltd. All rights reserved.

Keywords: Singular and degenerate diffusion equation; Existence; Uniqueness and asymptotic behavior

1. Introduction

Consider the singular and degenerate diffusion equation

$$u_t = (|(p(u))_x|^{\lambda-2}(p(u))_x)_x, \quad -\infty < x < +\infty, t > 0, \quad (1.1)$$

where $1 < \lambda < 2$, $p(s) \in C^1([0, +\infty))$, $p'(s) > 0$ for $s > 0$ and $p'(s)$ is a monotone increasing function in $(0, +\infty)$. The equation may have singularity or degeneracy. In fact, the equation is singular at the points where $(p(u))_x = 0$, while degenerate at the points where $u = 0$ if $p'(0) = 0$. This type of equation has a wide range of applications in physics and engineering sciences, see [9,15,17,18,20] and references therein.

* Corresponding author. Tel.: +852 27889819; fax: +852 27888561.

E-mail address: matyang@cityu.edu.hk (T. Yang).

During the past decades, equations of the form (1.1) have been paid much attention by many mathematicians. In particular, the investigation for the important case $\lambda = 2$ has been the subject of intensive study, see [1,3–8,14,16,19,21,22]. When $\lambda \neq 2$ and $p(s) = s^m$ ($m \geq 1$), (1.1) is called the non-Newtonian polytropic filtration equation which has also been studied extensively, see [12] for the existence, uniqueness and regularity of solutions in one-dimensional case, and [11] and references therein for multi-dimensional case, see also [2,10,13].

Another way to view this equation and the degeneracy comes from the nonlinear damping problem for Euler equations with vacuum. Consider the following system for isentropic flow:

$$\begin{aligned} \rho_t + (\rho u)_x &= 0, \\ (\rho u)_t + (\rho u^2 + P(\rho))_x &= -\kappa(\rho u)^\alpha, \end{aligned}$$

where ρ , u and $P(\rho)$ are density, velocity and pressure, respectively, while $\kappa > 0$ is the damping coefficient, and $\alpha > 0$ is the power in the nonlinear damping term. It is known that usually when time t tends to infinity, the convection term in the second equation, i.e., $(\rho u)_t + (\rho u^2)_x$, decays faster than the other terms. This makes it possible to combine the above two equations to have the nonlinear porous media equation in the form of

$$\rho_t = \frac{1}{\kappa} ((P(\rho)_x)^{1/\alpha})_x.$$

If the pressure function satisfies $P'(0) = 0$, then it is clear that the above equation is degenerate at $\rho = 0$, i.e., at vacuum states. We believe that the study in this paper will be useful to the study of the large time behavior of solutions to the above system.

In this paper, we will consider Eq. (1.1) with general function $p(u)$ under some assumption to obtain some existence and regularity results. Moreover, the necessary and sufficient condition on the solutions with compact support is given with detailed behavior of the solutions at the interface. For this, we consider the self-similar solutions of the form

$$u(x, t) = w(\xi), \quad \xi = x(t + 1)^{-1/\lambda}.$$

A direct calculation shows that $w = w(\xi)$ satisfies the following equation:

$$-\frac{1}{\lambda} \xi w' = (|(p(w))'|^{\lambda-2} (p(w))')'. \tag{1.2}$$

We will investigate the infinite two-point boundary value problem of (1.2) with

$$w(-\infty) = w_-, \quad w(+\infty) = w_+, \tag{1.3}$$

where $w_{\pm} \geq 0$.

Since Eq. (1.2) is singular at the points where $(p(w))' = 0$ and may be degenerate at the points where $u = 0$, the classical solution may not exist. For this, the solution to (1.2) and (1.3) is defined as follows.

Definition 1. A non-negative function $w(\xi) \in C(-\infty, +\infty)$ is a solution of Eq. (1.2), if $p(w) \in C^1(-\infty, +\infty)$, w and $(p(w))'$ are absolutely continuous in $(-\infty, +\infty)$ so that

(1.2) holds almost everywhere. Moreover, if

$$\lim_{\xi \rightarrow -\infty} w(\xi) = w_-, \quad \lim_{\xi \rightarrow +\infty} w(\xi) = w_+,$$

$w(\xi)$ is called a solution of the infinite two-point boundary value problem (1.2) and (1.3).

If $w(\xi)$ is a solution of the problem (1.2) and (1.3), then $\tilde{w}(\xi) = w(-\xi)$ is also a solution of Eq. (1.2) with

$$w(-\infty) = w_+, \quad w(+\infty) = w_-.$$

Therefore, we can assume $0 \leq w_- \leq w_+$ without loss of generality.

The main results of this paper are the following:

Theorem 1. *There exists a unique solution of the infinite two-point boundary value problem (1.2) and (1.3).*

Theorem 2. *Let $w(\xi)$ be the solution of the infinite two-point boundary value problem (1.2) and (1.3) with $0 < w_- < w_+$. Then $w(\xi)$ is strictly increasing and satisfies*

$$\begin{aligned} \lim_{\xi \rightarrow -\infty} |\xi|^{\lambda/(2-\lambda)}(w(\xi) - w_-) &= \frac{2 - \lambda}{\lambda p'(w_-)} \left(\frac{2\lambda(\lambda - 1)p'(w_-)}{2 - \lambda} \right)^{1/(2-\lambda)}, \\ \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)}(w_+ - w(\xi)) &= \frac{2 - \lambda}{\lambda p'(w_+)} \left(\frac{2\lambda(\lambda - 1)p'(w_+)}{2 - \lambda} \right)^{1/(2-\lambda)}. \end{aligned}$$

Theorem 3. *Let $w(\xi)$ be the solution of the infinite two-point boundary value problem (1.2) and (1.3) with $w_- = 0$ and $w_+ > 0$. Set*

$$\hat{\xi} = \inf\{\xi \in (-\infty, +\infty) : w(\xi) > 0\}.$$

For $\hat{\xi}$, we have the following two cases:

(i) *If $\int_0^1 p'(s)s^{-1/(\lambda-1)} ds < +\infty$, then $-\infty < \hat{\xi} < 0$ and the solution satisfies*

$$\left. \frac{d}{d\xi} \left(\int_0^{w(\xi)} p'(s)s^{-1/(\lambda-1)} ds \right) \right|_{\xi=\hat{\xi}^+} = \left(\frac{-\hat{\xi}}{\lambda} \right)^{1/(\lambda-1)} > 0.$$

Moreover, $w(\xi)$ is strictly increasing on $[\hat{\xi}, +\infty)$, while $w(\xi) \equiv 0$ on $(-\infty, \hat{\xi}]$.

(ii) *If $\int_0^1 p'(s)s^{-1/(\lambda-1)} ds = +\infty$, then $\hat{\xi} = -\infty$ and the solution satisfies*

$$\lim_{\xi \rightarrow -\infty} |\xi|w(\xi) = 0, \quad \lim_{\xi \rightarrow -\infty} |\xi|^{\lambda/(2-\lambda)}p(w(\xi)) = 0.$$

And $w(\xi)$ is strictly increasing in $(-\infty, +\infty)$.

Furthermore, for both cases, we have

$$\lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)}(w_+ - w(\xi)) = \frac{2 - \lambda}{\lambda p'(w_+)} \left(\frac{2\lambda(\lambda - 1)p'(w_+)}{2 - \lambda} \right)^{1/(2-\lambda)}.$$

Remark 1. For $p(s) = s^m$ ($m \geq 1$), Theorem 3 yields the following properties on the solutions:

(i) If $m > 1/(\lambda - 1)$, then $-\infty < \hat{\xi} < 0$ and

$$\frac{d}{d\xi}(w^{m-1/(\lambda-1)}(\xi))|_{\xi=\hat{\xi}^+} = \frac{1}{m} \left(m - \frac{1}{\lambda-1} \right) \left(\frac{-\hat{\xi}}{\lambda} \right)^{1/(\lambda-1)} > 0.$$

(ii) If $1 \leq m \leq 1/(\lambda - 1)$, then $\hat{\xi} = -\infty$.

Remark 2. Consider the Euler equations for polytropic gas. When $P(\rho) = \sigma^2 \rho^\gamma$ with $\gamma \geq 1$ being the adiabatic constant and σ being a constant, the explanation on the vacuum behavior from Theorem 3 can be stated as follows. When $\gamma > \alpha$, the gas can connect to vacuum in finite distance at any time with the physical vacuum boundary condition being $(\rho^{\gamma-\alpha})_x \neq 0$ and bounded at the vacuum interface. This is consistent with the work done on the Euler equations with linear damping when $\alpha = 1$. On the other hand, when $1 \leq \gamma \leq \alpha$, the gas canonically does not connect to vacuum in finite distance for any time, but at infinity.

Theorem 4. *There exists one solution to the Cauchy problem of Eq. (1.1) with the initial value*

$$u(x, 0) = \begin{cases} u_-, & x < 0, \\ u_+, & x > 0, \end{cases} \tag{1.4}$$

where $u_{\pm} \geq 0$.

2. Preliminaries

Let $v = p(w)$. Then Eq. (1.2) is transformed to

$$-\frac{1}{\lambda} \xi(q(v))' = (|v'|^{\lambda-2} v')', \tag{2.1}$$

i.e.

$$v'' = -\frac{1}{\lambda(\lambda-1)} \xi q'(v) |v'|^{2-\lambda} v', \tag{2.2}$$

where $q(s) = p^{-1}(s)$ is the inverse function of p . And the boundary value (1.3) is transformed to

$$v(-\infty) = v_-, \quad v(+\infty) = v_+, \tag{2.3}$$

where $v_- = p(w_-)$ and $v_+ = p(w_+)$. It is easy to see that $q(s) \in C(R(p)) \cap C^1(R_+(p))$, $q'(s) > 0$ for $s \in R_+(p)$ and $q'(s)$ is a monotone decreasing function in $R_+(p)$, where

$$R(p) = \{p(s) : s \in [0, +\infty)\}, \quad R_+(p) = \{p(s) : s \in (0, +\infty)\}.$$

According to Definition 1, we see that

Definition 2. A function $v(\xi) \in C(I)$ is called a solution of Eq. (2.2) in an interval I , if $v(I) \subset R(p)$, $v \in C^1(I)$, $q(v)$ and v' are absolutely continuous in I so that (2.2) holds almost everywhere. Additionally, if $I = (-\infty, +\infty)$ and

$$\lim_{\xi \rightarrow -\infty} v(\xi) = v_-, \quad \lim_{\xi \rightarrow +\infty} v(\xi) = v_+,$$

we say $v(\xi)$ is a solution of the infinite two-point boundary value problem (2.2) and (2.3).

From Eq. (2.2) and Definition 2, if v is a solution of (2.2) in an interval I , then v is a classical solution of (2.2) in $\{\xi \in I : v(\xi) \in R_+(p)\}$. Noticing $2 - \lambda > 0$, it is evident that for any solution v of Eq. (2.2), if $v(\xi_0) \in R_+(p)$ and $v'(\xi_0) = 0$ for some $\xi_0 \in (-\infty, +\infty)$, then $v' \equiv 0$. That is,

Proposition 2.1. Assume I is an interval, $v(\xi)$ ($\xi \in I$) is a solution of Eq. (2.2) and $v(I) \subset R_+(p)$.

(i) If there exists $\xi_0 \in I$ such that $v'(\xi_0) > 0$, then

$$v'(\xi) > 0, \quad \forall \xi \in I.$$

(ii) If there exists $\xi_0 \in I$ such that $v'(\xi_0) = 0$, then

$$v'(\xi) = 0, \quad \forall \xi \in I.$$

(iii) If there exists $\xi_0 \in I$ such that $v'(\xi_0) < 0$, then

$$v'(\xi) < 0, \quad \forall \xi \in I.$$

Lemma 2.1. Assume I is an interval, $v(\xi)$ ($\xi \in I$) is a strictly increasing solution of Eq. (2.2), $0 \in I$, $v(I) \subset R_+(p)$, $b \in R_+(p)$ and

$$v(\xi) \leq b, \quad \forall \xi \in I.$$

Then

$$v'(\xi) \leq (v'^{\lambda-2}(0) + C\xi^2)^{1/(\lambda-2)}, \quad \forall \xi \in I,$$

where

$$C = \frac{(2 - \lambda)q'(b)}{2\lambda(\lambda - 1)} > 0.$$

Proof. Since v is strictly increasing, (2.2) can be rewritten as

$$v'' = -\frac{1}{\lambda(\lambda - 1)} \xi q'(v) v'^{3-\lambda},$$

i.e.

$$(v^{\lambda-2})' = \frac{2-\lambda}{\lambda(\lambda-1)} \xi q'(v).$$

Thus

$$v^{\lambda-2}(\xi) = v^{\lambda-2}(0) + \frac{2-\lambda}{\lambda(\lambda-1)} \int_0^\xi s q'(v(s)) \, ds, \quad \forall \xi \in I.$$

Since $q'(s) > 0$ for $s \in R_+(p)$ and $q'(s)$ is a monotone decreasing function in $R_+(p)$, we have

$$0 < q'(b) \leq q'(v(s)), \quad \forall s \in I.$$

Noticing that $1 < \lambda < 2$ and $v'(0) > 0$, we see that

$$0 < v^{\lambda-2}(0) + \frac{(2-\lambda)q'(b)}{2\lambda(\lambda-1)} \xi^2 \leq v^{\lambda-2}(\xi), \quad \forall \xi \in I.$$

Thus

$$v'(\xi) \leq \left(v^{\lambda-2}(0) + \frac{(2-\lambda)q'(b)}{2\lambda(\lambda-1)} \xi^2 \right)^{1/(\lambda-2)}, \quad \forall \xi \in I.$$

The proof is complete. \square

Lemma 2.2. *Let $v_1(\xi)$ and $v_2(\xi)$ be two strictly increasing solutions of Eq. (2.2) in an interval I and $v_1(I), v_2(I) \subset R_+(p)$.*

(i) *If there exists $\xi_0 \in [0, +\infty) \cap I$ such that*

$$v_1(\xi_0) \geq v_2(\xi_0), \quad v'_1(\xi_0) > v'_2(\xi_0),$$

then

$$v'_1(\xi) > v'_2(\xi), \quad \forall \xi \in [\xi_0, +\infty) \cap I.$$

(ii) *If there exists $\xi_0 \in (-\infty, 0) \cap I$ such that*

$$v_1(\xi_0) = v_2(\xi_0), \quad v'_1(\xi_0) > v'_2(\xi_0),$$

then

$$v'_1(\xi) > v'_2(\xi), \quad \forall \xi \in [\xi_0, +\infty) \cap I.$$

Proof. (i) Assume the conclusion was invalid. Let

$$\xi^* = \inf \{ \xi \in [\xi_0, +\infty) \cap I : v'_1(\xi) \leq v'_2(\xi) \}.$$

Then $0 \leq \xi_0 < \xi^*$, $v'_1(\xi^*) = v'_2(\xi^*)$ and $v'_1(\xi) > v'_2(\xi)$ for $\xi_0 < \xi < \xi^*$. Since $v_1(\xi_0) \geq v_2(\xi_0)$, $v_1(\xi^*) > v_2(\xi^*)$. Eq. (2.2) implies $v''_1(\xi^*) > v''_2(\xi^*)$, which contradicts that $v'_1(\xi^*) = v'_2(\xi^*)$ and $v'_1(\xi) > v'_2(\xi)$ for $\xi_0 < \xi < \xi^*$.

(ii) From (i), we need to only prove that

$$v'_1(\xi) > v'_2(\xi), \quad \forall \xi \in [\xi_0, 0] \cap I.$$

Assume the conclusion was invalid. Let

$$\xi_* = \inf\{x \in [\xi_0, 0] \cap I : v'_1(\xi) \leq v'_2(\xi)\}.$$

Then $\xi_0 < \xi_* \leq 0$, $v'_1(\xi_*) = v'_2(\xi_*)$ and $v'_1(\xi) > v'_2(\xi)$ for $\xi_0 < \xi < \xi_*$. Since $v_1(\xi_0) = v_2(\xi_0)$, $v_1(\xi) > v_2(\xi)$ for $\xi_0 < \xi \leq \xi_*$. Integrating (2.1) from ξ_0 to ξ_* , we get

$$v'^{\lambda-1} \Big|_{\xi_0}^{\xi_*} = -\frac{1}{\lambda} \int_{\xi_0}^{\xi_*} \xi (q(v))' d\xi = \frac{1}{\lambda} \int_{\xi_0}^{\xi_*} q(v) d\xi - \frac{1}{\lambda} \xi q(v) \Big|_{\xi_0}^{\xi_*}.$$

Therefore,

$$v'^{\lambda-1}(\xi_0) - v'^{\lambda-1}(\xi_*) = \frac{1}{\lambda} \int_{\xi_0}^{\xi_*} (q(v_1) - q(v_2)) d\xi - \frac{1}{\lambda} \xi_* (q(v_1(\xi_*)) - q(v_2(\xi_*))).$$

Since $\xi_* \leq 0$, $q(v_1(\xi_*)) - q(v_2(\xi_*)) > 0$, $\int_{\xi_0}^{\xi_*} (q(v_1) - q(v_2)) d\xi > 0$, we get that

$$v'^{\lambda-1}(\xi_0) > v'^{\lambda-1}(\xi_*),$$

which contradicts $v'_1(\xi_0) > v'_2(\xi_0)$. The proof is complete. \square

3. The case without degeneracy

In this section, we consider the case without degeneracy, i.e. $v_{\pm} \in R_+(p)$. By Proposition 2.1, problems (2.2) and (2.3) have a unique solution for $v_- = v_+$. Therefore, we just need to investigate the case $v_- < v_+$.

Lemma 3.1. Assume $\xi_0 \in (-\infty, +\infty)$ and $a \in R_+(p)$. For sufficiently small $\delta > 0$, Eq. (2.2) with the initial value

$$\begin{cases} v(\xi_0) = a, \\ v'(\xi_0) = \delta \end{cases} \tag{3.1}$$

can be extended to $+\infty$.

Proof. We first prove the conclusion for $\xi_0 = 0$. Since $p \in C^1(0, +\infty)$, $R_+(p)$ is an open interval. Thus, there exists $b \in R_+(p)$ such that $b > a$. Choose $\delta_0 > 0$ such that for any $0 < \delta < \delta_0$,

$$\int_0^{+\infty} (\delta^{\lambda-2} + C\xi^2)^{1/(\lambda-2)} d\xi < b - a,$$

where

$$C = \frac{(2 - \lambda)q'(b)}{2\lambda(\lambda - 1)} > 0.$$

By Lemma 2.1, it is easy to see for any $0 < \delta < \delta_0$, the solution of (2.2) and (3.1) with $\xi_0 = 0$ can be extended to $+\infty$.

If $\xi_0 > 0$, we can obtain the conclusion directly by the result of $\xi_0 = 0$ and Lemma 2.2.

If $\xi_0 < 0$, by the result of $\xi_0 = 0$ and the continuity of solution to initial, we need only prove that the solution v of (2.2) and (3.1) can be extended to 0 and satisfies $v(0) \in R_+(p)$ for sufficiently small $\delta > 0$. By Proposition 2.1, $v' > 0$. Therefore, Eq. (2.2) can be transformed to

$$(v'^{\lambda-2})' = \frac{2 - \lambda}{\lambda(\lambda - 1)} \xi q'(v).$$

Integrating from ξ_0 to ξ , we get

$$v'^{\lambda-2}(\xi) = \delta^{\lambda-2} + \frac{2 - \lambda}{\lambda(\lambda - 1)} \int_{\xi_0}^{\xi} s q'(v(s)) ds,$$

which implies v can be extended to 0 and satisfies $v'(0) \in R_+(p)$ when $\delta > 0$ is sufficiently small. The proof is complete. \square

Lemma 3.2. Assume $\xi_1 < \xi_2$, $a < b$ and $a, b \in R_+(p)$. There exists a solution of Eq. (2.2) with the boundary value

$$v(\xi_1) = a, \quad v(\xi_2) = b. \tag{3.2}$$

Proof. We denote $v(\xi; \delta)$ the solution of Eq. (2.2) with the initial value

$$\begin{cases} v(\xi_1) = a, \\ v'(\xi_1) = \delta, \end{cases}$$

where $\delta > 0$. From Lemma 3.1, we know that $v(\xi; \delta)$ is existent on $[\xi_1, +\infty)$ for sufficiently small $\delta > 0$. By the continuity of solution to initial,

$$\lim_{\delta \rightarrow 0^+} v(\xi_2; \delta) = a.$$

Thus the set

$$E = \{\delta > 0 : v(\xi; \delta) \text{ is existent on } [\xi_1, \xi_2] \text{ and } v(\xi_2; \delta) \leq b\}$$

is not empty. We declare that E is bounded additionally.

(i) The case $\xi_1 \geq 0$. Eq. (2.2) can be transformed to

$$(v'^{\lambda-2})' = \frac{2 - \lambda}{\lambda(\lambda - 1)} \xi q'(v).$$

Integrating from ξ_1 to ξ , we get

$$v'^{\lambda-2}(\xi) = \delta^{\lambda-2} + \frac{2-\lambda}{\lambda(\lambda-1)} \int_{\xi_1}^{\xi} sq'(v(s)) ds.$$

Therefore, for sufficiently large $\delta > 0$, if $v(\xi; \delta)$ is existent on $[\xi_1, \xi_2]$, then $v(\xi_2; \delta) > b$. This implies E is bounded.

(ii) The case $\xi_1 < 0$. Since $v''(\xi; \delta) > 0$ for $\xi < 0$ and $v(\xi; \delta)$ is strictly increasing,

$$\left[\frac{b-a}{\min\{\xi_2, 0\} - \xi_1}, +\infty \right) \cap E = \emptyset,$$

which implies E is bounded too.

Let

$$\delta_0 = \sup E.$$

Then $0 < \delta_0 < +\infty$. By the continuity of solution to initial, $\delta_0 \in E$. Assume $v(\xi_2; \delta_0) < b$. By Lemma 2.2 and the continuity of solution to initial, $v(\xi; \delta_0 + \varepsilon)$ is existent on $[\xi_1, \xi_2]$ and $v(\xi_2; \delta_0 + \varepsilon) < b$ for sufficiently small $\varepsilon > 0$, which contradicts the definition of δ_0 . Hence $v(\xi_2; \delta_0) = b$. This implies that $v(\xi; \delta_0)$ is a solution of the problem (2.2) and (3.2). The proof is complete. \square

Now we can study existence, uniqueness and asymptotic behavior of solutions of problems (2.2) and (2.3) for the case without degeneracy.

Proposition 3.1. *Assume $v_- < v_+$. There exists at least one solution of problems (2.2) and (2.3).*

Proof. We denote $v_0(\xi)$ the solution of Eq. (2.2) with the boundary value

$$v(0) = v_-, \quad v(1) = v_+,$$

and $v_n(\xi)$ the solution of Eq. (2.2) with the boundary value

$$v(-n) = v_-, \quad v(n) = v_+,$$

where n is a positive integer. By Lemma 3.2, v_0 and v_n are existent. We declare that $v'_n(0) \leq v'_0(0)$ for each n . Otherwise, for some $n \geq 1$,

$$v'_n(0) > v'_0(0).$$

Since $v_n(0) > a = v_0(0)$, Lemma 2.2 implies that

$$v'_n(\xi) > v'_0(\xi), \quad \forall \xi \in [0, 1]$$

which contradicts that $v_n(0) > a = v_0(0)$ and $v_n(1) \leq b = v_0(1)$. By Lemma 2.1,

$$v'_n(\xi) \leq (v_n^{\lambda-2}(0) + C\xi^2)^{1/(\lambda-2)} \leq (v_0^{\lambda-2}(0) + C\xi^2)^{1/(\lambda-2)}, \quad \forall \xi \in [-n, +n], \tag{3.3}$$

where $C > 0$ is a constant independent of n . This implies $\{v_n\}$, $\{v'_n\}$ and $\{v''_n\}$ are all uniformly bounded. Therefore, $\{v_n\}$ and $\{v'_n\}$ are both uniformly bounded and equi-continuous on any compact subset of $(-\infty, +\infty)$. By Arzela–Ascoli’s theorem, there exists a subsequence, denoted by $\{v_{n_k}\}$, and a function $v \in C^1(-\infty, +\infty)$ such that $\{v_{n_k}\}$ and $\{v'_{n_k}\}$ converge uniformly to v and v' on any compact subset of $(-\infty, +\infty)$, respectively. Since v_{n_k} satisfy Eq. (2.2), $v \in C^2(-\infty, +\infty)$ and satisfies Eq. (2.2). From (3.3) and the boundary value of v_n , it is easy to see that

$$\lim_{\xi \rightarrow -\infty} v(\xi) = v_-, \quad \lim_{\xi \rightarrow +\infty} v(\xi) = v_+.$$

Thus, v is a solution of problems (2.2) and (2.3). The proof is complete. \square

Proposition 3.2. Assume $v_- < v_+$. Problems (2.2) and (2.3) admit at most one solution.

Proof. We argue by contradiction. Assume v_1 and v_2 are two solutions of problems (2.2) and (2.3), and there exists $\xi_0 \in (-\infty, +\infty)$ such that

$$v_1(\xi_0) > v_2(\xi_0).$$

For $\xi_1 < \xi_0 < \xi_2$, integrating (2.1) from ξ_1 to ξ_2 , we get

$$v_i'^{\lambda-1} \Big|_{\xi_1}^{\xi_2} = -\frac{1}{\lambda} \int_{\xi_1}^{\xi_2} \xi(q(v_i))' d\xi = -\frac{1}{\lambda} \xi q(v_i) \Big|_{\xi_1}^{\xi_2} + \frac{1}{\lambda} \int_{\xi_1}^{\xi_2} q(v_i) d\xi \quad (i = 1, 2). \tag{3.4}$$

Since v_i ($i = 1, 2$) are solutions of problems (2.2) and (2.3),

$$\begin{aligned} \xi_1 q(v_i(\xi_1)) &= \xi_1 q(v_i(-\infty)) + \xi_1 \int_{-\infty}^{\xi_1} q'(v_i) v_i' d\xi \\ &= \xi_1 q(v_-) + \xi_1 \int_{-\infty}^{\xi_1} q'(v_i) v_i' d\xi \quad (i = 1, 2) \end{aligned} \tag{3.5}$$

and

$$\begin{aligned} \xi_2 q(v_i(\xi_2)) &= \xi_2 q(v_i(+\infty)) - \xi_2 \int_{\xi_2}^{+\infty} q'(v_i) v_i' d\xi \\ &= \xi_2 q(v_+) - \xi_2 \int_{\xi_2}^{+\infty} q'(v_i) v_i' d\xi \quad (i = 1, 2). \end{aligned} \tag{3.6}$$

We distinguish four cases to complete the proof.

(i) If

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in (-\infty, +\infty).$$

From (3.4)–(3.6), we can get

$$\begin{aligned} v_1^{\lambda-1} \Big|_{\xi_1}^{\xi_2} - v_2^{\lambda-1} \Big|_{\xi_1}^{\xi_2} &= \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_1)v_1' d\xi + \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_1)v_1' d\xi \\ &\quad - \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_2)v_2' d\xi - \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_2)v_2' d\xi \\ &\quad + \frac{1}{\lambda} \int_{\xi_1}^{\xi_2} (q(v_1) - q(v_2)) d\xi. \end{aligned}$$

Since $v_1(\xi) > v_2(\xi)$ in $(-\infty, +\infty)$ and $q'(s) > 0$ for $s \in R_+(p)$, for $\xi_1 \leq \xi_0 - 1$ and $\xi_2 \geq \xi_0 + 1$, we have

$$\begin{aligned} v_1^{\lambda-1} \Big|_{\xi_1}^{\xi_2} - v_2^{\lambda-1} \Big|_{\xi_1}^{\xi_2} &- \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_1)v_1' d\xi - \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_1)v_1' d\xi \\ &+ \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_2)v_2' d\xi + \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_2)v_2' d\xi \\ &= \frac{1}{\lambda} \int_{\xi_1}^{\xi_2} (q(v_1) - q(v_2)) d\xi \\ &\geq \frac{1}{\lambda} \int_{\xi_0-1}^{\xi_0+1} (q(v_1) - q(v_2)) d\xi. \end{aligned}$$

Letting $\xi_1 \rightarrow -\infty$ and $\xi_2 \rightarrow +\infty$, and noticing that each term in the left converges to 0 from Lemma 2.1, we see that

$$0 \geq \frac{1}{\lambda} \int_{\xi_0-1}^{\xi_0+1} (q(v_1) - q(v_2)) d\xi,$$

which contradicts that $v_1(\xi) > v_2(\xi)$ in $(-\infty, +\infty)$ and $q'(s) > 0$ for $s \in R_+(p)$.

(ii) If

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in (-\infty, \xi_0),$$

but

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in (\xi_0, +\infty)$$

is invalid. Let

$$\xi^* = \inf\{\xi > \xi_0 : v_1(\xi) \leq v_2(\xi)\}.$$

Then $\xi^* > \xi_0$, $v_1(\xi^*) = v_2(\xi^*)$ and $v_1(\xi) > v_2(\xi)$ in $(-\infty, \xi^*)$. We first prove that $v_1'(\xi^*) = v_2'(\xi^*)$. On the one hand, if $v_1'(\xi^*) > v_2'(\xi^*)$, then Lemma 2.2 implies that

$$v_1'(\xi) > v_2'(\xi), \quad \forall \xi \geq \xi^*,$$

which contradicts that $v_1(\xi^*) = v_2(\xi^*)$ and $v_1(+\infty) = v_2(+\infty) = v_+$. On the other hand, if $v_1'(\xi^*) < v_2'(\xi^*)$, then Lemma 2.2 implies that

$$v_1'(\xi) < v_2'(\xi), \quad \forall \xi \geq \xi^*,$$

which contradicts that $v_1(\zeta^*) = v_2(\zeta^*)$ and $v_1(+\infty) = v_2(+\infty) = v_+$ too. Hence $v_1'(\zeta^*) = v_2'(\zeta^*)$.

Choosing $\zeta_2 = \zeta^*$ in (3.4), by (3.5) we get

$$\begin{aligned}
 -v_1'^{\lambda-1}(\xi_1) + v_2'^{\lambda-1}(\xi_1) &= \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_1)v_1' d\zeta - \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_2)v_2' d\zeta \\
 &\quad + \frac{1}{\lambda} \int_{\xi_1}^{\zeta^*} (q(v_1) - q(v_2)) d\zeta.
 \end{aligned}$$

Since $v_1(\zeta) > v_2(\zeta)$ in $(-\infty, \zeta^*)$ and $q'(s) > 0$ for $s \in R_+(p)$, we have

$$\begin{aligned}
 -v_1'^{\lambda-1}(\xi_1) + v_2'^{\lambda-1}(\xi_1) - \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_1)v_1' d\zeta + \frac{\xi_1}{\lambda} \int_{-\infty}^{\xi_1} q'(v_2)v_2' d\zeta \\
 = \frac{1}{\lambda} \int_{\xi_1}^{\zeta^*} (q(v_1) - q(v_2)) d\zeta \\
 \geq \frac{1}{\lambda} \int_{\xi_0}^{\zeta^*} (q(v_1) - q(v_2)) d\zeta.
 \end{aligned}$$

Letting $\xi_1 \rightarrow -\infty$, we see that

$$0 \geq \frac{1}{\lambda} \int_{\xi_0}^{\zeta^*} (q(v_1) - q(v_2)) d\zeta,$$

which contradicts that $v_1(\zeta) > v_2(\zeta)$ in $(-\infty, \zeta^*)$ and $q'(s) > 0$ for $s \in R_+(p)$.

(iii) If

$$v_1(\zeta) > v_2(\zeta), \quad \forall \zeta \in (\zeta_0, +\infty),$$

but

$$v_1(\zeta) > v_2(\zeta), \quad \forall \zeta \in (-\infty, \zeta_0)$$

is invalid. Let

$$\zeta_* = \sup\{\zeta < \zeta_0 : v_1(\zeta) \leq v_2(\zeta)\}.$$

Then $\zeta_* < \zeta_0$, $v_1(\zeta_*) = v_2(\zeta_*)$ and $v_1(\zeta) > v_2(\zeta)$ in $(\zeta_*, +\infty)$. Similar to (ii), we can prove that $v_1'(\zeta_*) = v_2'(\zeta_*)$ by Lemma 2.2.

Choosing $\xi_1 = \zeta_*$ in (3.4), by (3.6) we get

$$\begin{aligned}
 v_1'^{\lambda-1}(\xi_2) - v_2'^{\lambda-1}(\xi_2) &= \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_1)v_1' d\zeta - \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_2)v_2' d\zeta \\
 &\quad + \frac{1}{\lambda} \int_{\zeta_*}^{\xi_2} (q(v_1) - q(v_2)) d\zeta.
 \end{aligned}$$

Since $v_1(\xi) > v_2(\xi)$ in $(\xi_*, +\infty)$ and $q'(s) > 0$ for $s \in R_+(p)$, we have

$$\begin{aligned} & v_1^{\lambda-1}(\xi_2) - v_2^{\lambda-1}(\xi_2) - \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_1)v_1' d\xi + \frac{\xi_2}{\lambda} \int_{\xi_2}^{+\infty} q'(v_2)v_2' d\xi \\ &= \frac{1}{\lambda} \int_{\xi_*}^{\xi_2} (q(v_1) - q(v_2)) d\xi \\ &\geq \frac{1}{\lambda} \int_{\xi_*}^{\xi_0} (q(v_1) - q(v_2)) d\xi. \end{aligned}$$

Letting $\xi_2 \rightarrow +\infty$, we see that

$$0 \geq \frac{1}{\lambda} \int_{\xi_*}^{\xi_0} (q(v_1) - q(v_2)) d\xi,$$

which contradicts that $v_1(\xi) > v_2(\xi)$ in $(\xi_*, +\infty)$ and $q'(s) > 0$ for $s \in R_+(p)$.

(iv) If

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in (-\infty, \xi_0)$$

and

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in (\xi_0, +\infty)$$

are both invalid. Let

$$\xi_* = \sup\{\xi < \xi_0 : v_1(\xi) \leq v_2(\xi)\}, \quad \xi^* = \inf\{\xi > \xi_0 : v_1(\xi) \leq v_2(\xi)\}.$$

Then $\xi_* < \xi_0 < \xi^*$, $v_1(\xi_*) = v_2(\xi_*)$, $v_1(\xi^*) = v_2(\xi^*)$ and $v_1(\xi) > v_2(\xi)$ in (ξ_*, ξ^*) . Similar to (ii), we can prove that $v_1'(\xi_*) = v_2'(\xi_*)$ and $v_1'(\xi^*) = v_2'(\xi^*)$ by Lemma 2.2.

Choosing $\xi_1 = \xi_*$ and $\xi_2 = \xi^*$ in (3.4), we get

$$0 = \frac{1}{\lambda} \int_{\xi_*}^{\xi^*} (q(v_1) - q(v_2)) d\xi,$$

which contradicts that $v_1(\xi) > v_2(\xi)$ in (ξ_*, ξ^*) and $q'(s) > 0$ for $s \in R_+(p)$. The proof is complete. \square

Proposition 3.3. Assume $v_- < v_+$ and v is the solution of problems (2.2) and (2.3). Then v is strictly increasing and satisfies

$$\lim_{\xi \rightarrow -\infty} |\xi|^{\lambda/(2-\lambda)}(v(\xi) - v_-) = \frac{2-\lambda}{\lambda} \left(\frac{2\lambda(\lambda-1)}{(2-\lambda)q'(v_-)} \right)^{1/(2-\lambda)}, \tag{3.7}$$

$$\lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)}(v_+ - v(\xi)) = \frac{2-\lambda}{\lambda} \left(\frac{2\lambda(\lambda-1)}{(2-\lambda)q'(v_+)} \right)^{1/(2-\lambda)}. \tag{3.8}$$

Proof. The monotone property of v can be obtained directly from Proposition 2.1. The proof of (3.7) and (3.8) is similar. Here we only prove (3.8). Since $q \in C^1(R_+(p))$ and

q' is monotone decreasing, for any $\varepsilon > 0$, there exists a constant $a \in (v_-, v_+)$ such that $q'(v_+) \leq q'(a) \leq q'(v_+) + \varepsilon$. Choose $\xi_0 > 0$ such that $v(\xi_0) \geq a$. Since $v' > 0$, Eq. (2.2) can be transformed to

$$(v'^{\lambda-2})' = \frac{2-\lambda}{\lambda(\lambda-1)} \xi q'(v).$$

Integrating from ξ_0 to ξ , we get

$$v'^{\lambda-2}(\xi) = v'^{\lambda-2}(\xi_0) + \frac{2-\lambda}{\lambda(\lambda-1)} \int_{\xi_0}^{\xi} s q'(v(s)) ds, \quad \forall \xi > \xi_0.$$

Since $v' > 0$,

$$a \leq v(\xi_0) < v(\xi) < v_+, \quad \forall \xi > \xi_0.$$

Thus

$$0 < q'(v_+) \leq q'(v(\xi)) \leq q'(a) \leq q'(v_+) + \varepsilon, \quad \forall \xi > \xi_0.$$

Therefore,

$$(C_1 + \theta_1 \xi^2)^{1/(\lambda-2)} \leq v'(\xi) \leq (C_2 + \theta_2 \xi^2)^{1/(\lambda-2)}, \quad \forall \xi > \xi_0,$$

where

$$\theta_1 = \frac{(2-\lambda)(q'(v_+) + \varepsilon)}{2\lambda(\lambda-1)}, \quad C_1 = v'^{\lambda-2}(\xi_0) - \theta_1 \xi_0^2,$$

$$\theta_2 = \frac{(2-\lambda)q'(v_+)}{2\lambda(\lambda-1)}, \quad C_2 = v'^{\lambda-2}(\xi_0) - \theta_2 \xi_0^2.$$

Hence for any $\xi > \xi_0$,

$$\int_{\xi}^{\infty} (C_1 + \theta_1 s^2)^{1/(\lambda-2)} ds \leq v_+ - v(\xi) \leq \int_{\xi}^{\infty} (C_2 + \theta_2 s^2)^{1/(\lambda-2)} ds.$$

By L'Hospital's Rule, we see that

$$\begin{aligned} & \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} \int_{\xi}^{\infty} (C_i + \theta_i s^2)^{1/(\lambda-2)} ds \\ &= \frac{2-\lambda}{\lambda} \lim_{\xi \rightarrow +\infty} \xi^{2/(2-\lambda)} (C_i + \theta_i \xi^2)^{1/(\lambda-2)} \\ &= \frac{2-\lambda}{\lambda} \theta_i^{1/(\lambda-2)} \quad (i = 1, 2). \end{aligned}$$

Therefore,

$$\begin{aligned} & \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} \int_{\xi}^{\infty} (C_1 + \theta_1 s^2)^{1/(\lambda-2)} ds \\ & \leq \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} (v_+ - v(\xi)) \\ & \leq \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} (v_+ - v(\xi)) \\ & \leq \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} \int_{\xi}^{\infty} (C_2 + \theta_2 s^2)^{1/(\lambda-2)} ds, \end{aligned}$$

i.e.

$$\begin{aligned} & \frac{2-\lambda}{\lambda} \left(\frac{(2-\lambda)(q'(v_+) + \varepsilon)}{2\lambda(\lambda-1)} \right)^{1/(\lambda-2)} \\ & \leq \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} (v_+ - v(\xi)) \\ & \leq \lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)} (v_+ - v(\xi)) \\ & \leq \frac{2-\lambda}{\lambda} \left(\frac{(2-\lambda)q'(v_+)}{2\lambda(\lambda-1)} \right)^{1/(\lambda-2)}. \end{aligned}$$

Owing to the arbitrariness of $\varepsilon > 0$, we get (3.8). The proof is complete. \square

Since problems (1.2) and (1.3) are equivalent to problems (2.2) and (2.3), we get Theorems 1 and 2 with $0 < w_- < w_+$ from Proposition 3.1–3.3 directly.

4. The case with possible degeneracy

In this section, we consider the case with degeneracy, i.e. $v_{\pm} \in R(p)$ and $v_- = p(0)$. By Proposition 2.1, problems (2.2) and (2.3) have a unique solution for $v_- = v_+ = p(0)$. Therefore, we need only investigate the case $v_- = p(0)$ and $v_+ \in R_+(p)$. Without generality, we assume $v_- = p(0) = 0$ and $v_+ = p(w_+) = 1$, and investigate the infinite two-point boundary value problem of (2.2) with

$$v(-\infty) = 0, \quad v(+\infty) = 1. \tag{4.1}$$

Proposition 4.1. *There exists at least one solution of problems (2.2) and (4.1).*

Proof. We denote $v_n(\xi)$ the solution of Eq. (2.2) with the boundary value

$$v(-\infty) = \frac{1}{n}, \quad v(+\infty) = 1,$$

where n is a positive integer. By Proposition 3.1, Lemma 2.2 and the proof of Proposition 3.2, v_n are existent and

$$0 < v_{n+1}(\xi) < v_n(\xi) < 1, \quad \forall \xi \in (-\infty, +\infty) \quad (n = 1, 2, \dots).$$

Let

$$v(\xi) = \lim_{n \rightarrow \infty} v_n(\xi), \quad \forall \xi \in (-\infty, +\infty).$$

Since $0 < v_n < 1$ and v_n are strictly increasing in $(-\infty, +\infty)$, $0 \leq v < 1$ and v is monotone increasing in $(-\infty, +\infty)$.

Now we show that v is a solution of problems (2.2) and (4.1). Since $v'_n > 0$ in $(-\infty, +\infty)$ and $v''_n > 0$ in $(-\infty, 0)$,

$$0 < v'_n(-1) < 1 \quad (n = 1, 2, \dots).$$

For any $\xi_1 < \xi_2$, integrating Eq. (2.1) with $v = v_n$ from ξ_1 to ξ_2 , we get

$$v_n^{\lambda-1} \Big|_{\xi_1}^{\xi_2} = -\frac{1}{\lambda} \int_{\xi_1}^{\xi_2} \xi (q(v_n))' d\xi = \frac{1}{\lambda} \int_{\xi_1}^{\xi_2} q(v_n) d\xi - \frac{1}{\lambda} \xi q(v_n) \Big|_{\xi_1}^{\xi_2}. \tag{4.2}$$

Choosing $\xi_1 = -1$ and $\xi_2 = 0$, we get

$$v_n^{\lambda-1}(0) = v_n^{\lambda-1}(-1) + \frac{1}{\lambda} \int_{-1}^0 q(v_n) d\xi - \frac{1}{\lambda} q(v_n(-1)) \leq 1 + \frac{q(1)}{\lambda}.$$

By Lemma 2.1,

$$0 < v'_n(\xi) \leq C(1 + \xi^2)^{1/(\lambda-2)}, \quad \forall \xi \in (-\infty, +\infty), \tag{4.3}$$

where $C > 0$ is a constant independent of n . This implies that v_n are uniformly bounded and equi-continuous in $(-\infty, +\infty)$. Therefore, $v \in C(-\infty, +\infty)$ and

$$v(-\infty) = 0, \quad v(+\infty) = 1.$$

(i) Assume $v(\xi_0) > 0$ for some $\xi_0 \in (-\infty, +\infty)$. Then

$$v_n(\xi) > v(\xi) \geq v(\xi_0) > 0, \quad \forall \xi \geq \xi_0 \quad (n = 1, 2, \dots). \tag{4.4}$$

For any $\xi_2 > \xi_1 \geq \xi_0$, from (4.2) we get

$$\begin{aligned} |v_n^{\lambda-1}(\xi_2) - v_n^{\lambda-1}(\xi_1)| &= \frac{1}{\lambda} \left| \int_{\xi_1}^{\xi_2} \xi (q(v_n))' d\xi \right| \\ &\leq \frac{\max\{|\xi_1|, |\xi_2|\}}{\lambda} \int_{\xi_1}^{\xi_2} |(q(v_n))'| d\xi \\ &= \frac{\max\{|\xi_1|, |\xi_2|\}}{\lambda} \int_{\xi_1}^{\xi_2} (q(v_n))' d\xi \\ &\leq \frac{\max\{|\xi_1|, |\xi_2|\}}{\lambda} (q(v_n(\xi_2)) - q(v_n(\xi_1))) \\ &\leq \frac{\max\{|\xi_1|, |\xi_2|\}}{\lambda} q'(v(\xi_0))v'(0)(\xi_2 - \xi_1). \end{aligned}$$

This estimate and (4.3) imply that v'_n are uniformly bounded and equi-continuous on any compact subset of $[\xi_0, +\infty)$. Therefore, $v \in C^1([\xi_0, +\infty))$. Noticing (4.4), we see that $v \in C^2([\xi_0, +\infty))$ and satisfies Eq. (2.2) on $[\xi_0, +\infty)$ since v_n satisfy Eq. (2.2) in $(-\infty, +\infty)$.

(ii) Assume $v(\xi_0) = 0$ for some $\xi_0 \in (-\infty, +\infty)$. Then $v(\xi) \equiv 0$ on $(-\infty, \xi_0]$ by Proposition 2.1. Thus $v \in C^2((-\infty, \xi_0])$ and satisfies Eq. (2.2) on $(-\infty, \xi_0]$.

(iii) Assume there is $\xi_0 \in (-\infty, +\infty)$ such that $v(\xi_0) = 0$ and $v(\xi) > 0$ for all $\xi > \xi_0$. Choosing $\xi_1 = \xi_0$ in (4.2), we see that for any $\xi_2 > \xi_0$,

$$v_n'^{\lambda-1}(\xi_2) - v_n'^{\lambda-1}(\xi_0) = \frac{1}{\lambda} \int_{\xi_0}^{\xi_2} q(v_n) \, d\xi - \frac{1}{\lambda} \xi_2 q(v_n(\xi_2)) + \frac{1}{\lambda} \xi_0 q(v_n(\xi_0)).$$

Letting $n \rightarrow \infty$, we get

$$v'^{\lambda-1}(\xi_2) = \frac{1}{\lambda} \int_{\xi_0}^{\xi_2} q(v) \, d\xi - \frac{1}{\lambda} \xi_2 q(v(\xi_2)), \quad \forall \xi_2 > \xi_0.$$

Letting $\xi_2 \rightarrow \xi_0^+$, we see that $\lim_{\xi \rightarrow \xi_0^+} v'(\xi) = 0$.

From the above discussion, we see that $v \in C^1(-\infty, +\infty)$ and v is a solution of problems (2.2) and (4.1). The proof is complete. \square

Lemma 4.1. *Let v be a solution of problems (2.2) and (4.1) and*

$$\hat{\xi} = \inf\{\xi \in (-\infty, +\infty) : v(\xi) > 0\}.$$

Then v is monotone increasing in $(-\infty, +\infty)$ and $\hat{\xi} < 0$. In addition, for $\hat{\xi}$ and $\int_0^1 q^{-1/(\lambda-1)}(s) \, ds$ we have the following two cases:

- (i) *If $\hat{\xi} > -\infty$, then $\int_0^1 q^{-1/(\lambda-1)}(s) \, ds < +\infty$.*
- (ii) *If $\hat{\xi} = -\infty$, then $\int_0^1 q^{-1/(\lambda-1)}(s) \, ds = +\infty$.*

Proof. From (2.2) and Proposition 2.1, v is monotone increasing and $v'(\xi) \leq v'(0)$ for all $\xi \in (-\infty, +\infty)$. Hence $\hat{\xi} < 0$.

(i) The case $\hat{\xi} > -\infty$. For any $\hat{\xi} < \xi < 0$, integrating (2.1) from $\hat{\xi}$ to ξ , we get

$$v'^{\lambda-1} \Big|_{\hat{\xi}}^{\xi} = -\frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} s(q(v(s)))' \, ds.$$

Thus

$$\begin{aligned} v'^{\lambda-1}(\xi) &= -\frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} s(q(v(s)))' \, ds \\ &\leq \frac{|\hat{\xi}|}{\lambda} \int_{\hat{\xi}}^{\xi} |(q(v(s)))'| \, ds = \frac{|\hat{\xi}|}{\lambda} \int_{\hat{\xi}}^{\xi} (q(v(s)))' \, ds = \frac{|\hat{\xi}|}{\lambda} q(v(\xi)). \end{aligned}$$

Therefore,

$$q^{-1/(\lambda-1)}(v(\xi))v'(\xi) \leq \left(\frac{|\hat{\xi}|}{\lambda}\right)^{1/(\lambda-1)}, \quad \forall \xi \in (\hat{\xi}, 0).$$

Integrating from $\hat{\xi}$ to 0, we get

$$\int_0^{v(0)} q^{-1/(\lambda-1)}(s) ds = \int_{\hat{\xi}}^0 q^{-1/(\lambda-1)}(v(\xi))v'(\xi) d\xi \leq \left(\frac{|\hat{\xi}|}{\lambda}\right)^{1/(\lambda-1)} |\hat{\xi}|.$$

Therefore, $\int_0^1 q^{-1/(\lambda-1)}(s) ds < +\infty$.

(ii) The case $\hat{\xi} = -\infty$. For any $\xi_1 < \xi < 0$, integrating (2.1) from ξ_1 to ξ , we get

$$v'^{\lambda-1} \Big|_{\xi_1}^{\xi} = -\frac{1}{\lambda} \int_{\xi_1}^{\xi} s(q(v(s)))' ds.$$

Letting $\xi_1 \rightarrow -\infty$, we get

$$\begin{aligned} v'^{\lambda-1}(\xi) &= -\frac{1}{\lambda} \int_{-\infty}^{\xi} s(q(v(s)))' ds \\ &= -\frac{1}{\lambda} \int_{-\infty}^{\xi} s|(q(v(s)))'| ds \\ &\geq \frac{|\xi|}{\lambda} \int_{-\infty}^{\xi} (q(v(s)))' ds = \frac{|\xi|}{\lambda} q(v(\xi)). \end{aligned} \tag{4.5}$$

Therefore,

$$q^{-1/(\lambda-1)}(v(\xi))v'(\xi) \geq \left(\frac{|\xi|}{\lambda}\right)^{1/(\lambda-1)}, \quad \forall \xi < 0.$$

Integrating from $-\infty$ to 0, we get

$$\begin{aligned} \int_0^{v(0)} q^{-1/(\lambda-1)}(s) ds &= \int_{-\infty}^0 q^{-1/(\lambda-1)}(v(\xi))v'(\xi) d\xi \\ &\geq \int_{-\infty}^0 \left(\frac{|\xi|}{\lambda}\right)^{1/(\lambda-1)} d\xi = +\infty. \end{aligned}$$

Therefore, $\int_0^1 q^{-1/(\lambda-1)}(s) ds = +\infty$. The proof is complete. \square

Proposition 4.2. *Problems (2.2) and (4.1) admit at most one solution.*

Proof. Assume v_1 and v_2 are two different solutions of problems (2.2) and (4.1). If $\int_0^1 q^{-1/(\lambda-1)}(s) ds = +\infty$, then $v_1(\xi), v_2(\xi) \in R_+(p)$ for all $\xi \in (-\infty, +\infty)$ by Lemma 4.1. Letting $\xi \rightarrow -\infty$ in (4.5), by Lemma 2.1, we get

$$\lim_{\xi \rightarrow -\infty} |\xi|q(v(\xi)) = 0,$$

substituting which for (3.5), we can show that $v_1 \equiv v_2$ is similar to the proof of Proposition 3.2.

Now we assume $\int_0^1 q^{-1/(\lambda-1)}(s) ds < +\infty$. By Lemma 4.1, there exists $\hat{\xi}_i \in (-\infty, 0)$ such that $v_i(\xi) > 0$ in $(\hat{\xi}_i, +\infty)$ while $v_i \equiv 0$ on $(-\infty, \hat{\xi}_i]$ for $i = 1, 2$. If $\hat{\xi}_1 = \hat{\xi}_2$, the same argument as the proof of Proposition 3.2 (iii) can show that $v_1 \equiv v_2$. Therefore, we just need to consider the case $\hat{\xi}_1 \neq \hat{\xi}_2$ and assume $\hat{\xi}_1 < \hat{\xi}_2$ without generality. We declare that

$$v_1(\xi) > v_2(\xi), \quad \forall \xi \in [\hat{\xi}_2, 0]. \tag{4.6}$$

Otherwise, let

$$\xi^* = \inf\{\xi \in [\hat{\xi}_2, 0] : v_1(\xi) \leq v_2(\xi)\}.$$

Then $\hat{\xi}_2 < \xi^* \leq 0$, $v_1(\xi^*) = v_2(\xi^*)$ and $v_1(\xi) > v_2(\xi)$ for all $\xi \in [\hat{\xi}_2, \xi^*)$. Integrating Eq. (2.1) with $v = v_i$ from $\hat{\xi}_i$ to ξ^* , we get

$$v_i'^{\lambda-1} \Big|_{\hat{\xi}_i}^{\xi^*} = -\frac{1}{\lambda} \int_{\hat{\xi}_i}^{\xi^*} \xi(q(v_i))' d\xi = \frac{1}{\lambda} \int_{\hat{\xi}_i}^{\xi^*} q(v_i) d\xi - \frac{1}{\lambda} \xi q(v_i) \Big|_{\hat{\xi}_i}^{\xi^*} \quad (i = 1, 2).$$

So

$$v_1'^{\lambda-1}(\xi^*) - v_2'^{\lambda-1}(\xi^*) = \frac{1}{\lambda} \int_{\hat{\xi}_1}^{\xi^*} q(v_1) d\xi - \frac{1}{\lambda} \int_{\hat{\xi}_2}^{\xi^*} q(v_2) d\xi > 0,$$

i.e. $v_1'(\xi^*) > v_2'(\xi^*)$, which contradict that $v_1(\xi^*) = v_2(\xi^*)$ and $v_1(\xi) > v_2(\xi)$ for all $\xi \in [\hat{\xi}_2, \xi^*)$.

Integrating Eq. (2.1) with $v = v_i$ from $\hat{\xi}_i$ to 0, we get

$$v_i'^{\lambda-1} \Big|_{\hat{\xi}_i}^0 = -\frac{1}{\lambda} \int_{\hat{\xi}_i}^0 \xi(q(v_i))' d\xi = \frac{1}{\lambda} \int_{\hat{\xi}_i}^0 q(v_i) d\xi - \frac{1}{\lambda} \xi q(v_i) \Big|_{\hat{\xi}_i}^0 \quad (i = 1, 2).$$

Hence

$$v_1'^{\lambda-1}(0) = \frac{1}{\lambda} \int_{\hat{\xi}_1}^0 q(v_1) d\xi, \quad v_2'^{\lambda-1}(0) = \frac{1}{\lambda} \int_{\hat{\xi}_2}^0 q(v_2) d\xi.$$

From (4.6), $v_1'(0) > v_2'(0)$. By Lemma 2.2, we get

$$v_1'(\xi) > v_2'(\xi), \quad \forall \xi \geq 0,$$

which contradicts that $v_1(+\infty) = v_2(+\infty) = 1$. The proof is complete. \square

Proposition 4.3. Assume v is the solution of problems (2.2) and (4.1).

(i) If $\int_0^1 q^{-1/(\lambda-1)}(s) ds < +\infty$, then there exists $-\infty < \hat{\xi} < 0$ such that $v(\xi) > 0$ is strictly increasing in $(\hat{\xi}, +\infty)$, while $v(\xi) \equiv 0$ on $(-\infty, \hat{\xi}]$. In addition,

$$\frac{d}{d\xi} \left(\int_0^{v(\xi)} q^{-1/(\lambda-1)}(s) ds \right) \Big|_{\xi=\hat{\xi}^+} = \left(\frac{-\hat{\xi}}{\lambda} \right)^{1/(\lambda-1)} > 0. \tag{4.7}$$

(ii) If $\int_0^1 q^{-1/(\lambda-1)}(s) ds = +\infty$, then $v(\xi) > 0$ is strictly increasing in $(-\infty, +\infty)$ and

$$\lim_{\xi \rightarrow -\infty} |\xi|q(v(\xi)) = 0, \quad \lim_{\xi \rightarrow -\infty} |\xi|^{\lambda/(2-\lambda)}v(\xi) = 0. \tag{4.8}$$

Furthermore, for both cases, we have

$$\lim_{\xi \rightarrow +\infty} \xi^{\lambda/(2-\lambda)}(v_+ - v(\xi)) = \frac{2 - \lambda}{\lambda} \left(\frac{2\lambda(\lambda - 1)}{(2 - \lambda)q'(v_+)} \right)^{1/(2-\lambda)}. \tag{4.9}$$

Proof. By Lemma 4.1 and Proposition 2.1, we need only prove (4.7)–(4.9).

We first prove (4.7). For any $\xi > \hat{\xi}$, integrating Eq. (2.1) from $\hat{\xi}$ to ξ , we get

$$v'^{\lambda-1} \Big|_{\hat{\xi}}^{\xi} = -\frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} s(q(v(s)))' ds = \frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} q(v(s)) ds - \frac{1}{\lambda} s q(v(s)) \Big|_{\hat{\xi}}^{\xi},$$

i.e.

$$v'^{\lambda-1}(\xi) = \frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} q(v(s)) ds - \frac{1}{\lambda} \xi q(v(\xi)), \quad \forall \xi > \hat{\xi}.$$

Therefore,

$$\frac{v'(\xi)}{q^{1/(\lambda-1)}(v(\xi))} = \left(\frac{1}{\lambda} \int_{\hat{\xi}}^{\xi} \frac{q(v(s))}{q(v(\xi))} ds - \frac{1}{\lambda} \xi \right)^{1/(\lambda-1)}, \quad \forall \xi > \hat{\xi}.$$

Letting $\xi \rightarrow \hat{\xi}^+$ and noticing that $q(v(s)) < q(v(\xi))$ for all $\hat{\xi} < s < \xi$, we get (4.7).

Letting $\xi \rightarrow -\infty$ in (4.5), we get the former of (4.8) by Lemma 2.1. Now we show the latter. For any $\xi < 0$, similar to the proof of Lemma 2.1, we can get that

$$v'(s) \leq (v'^{\lambda-2}(0) + C(\xi)s^2)^{1/(\lambda-2)} \leq C^{1/(\lambda-2)}(\xi)(-s)^{2/(\lambda-2)}, \quad \forall s \leq \xi,$$

where $C(\xi) = \frac{(2-\lambda)q'(v(\xi))}{2\lambda(\lambda-1)} > 0$. Therefore,

$$\begin{aligned} v(\xi) &= \int_{-\infty}^{\xi} v'(s) ds \leq C^{1/(\lambda-2)}(\xi) \int_{-\infty}^{\xi} (-s)^{2/(\lambda-2)} ds \\ &= \frac{(2-\lambda)}{\lambda} C^{1/(\lambda-2)}(\xi) |\xi|^{-\lambda/(2-\lambda)}, \quad \forall \xi < 0, \end{aligned}$$

i.e.

$$|\xi|^{\lambda/(2-\lambda)}v(\xi) \leq \frac{(2-\lambda)}{\lambda} C^{1/(\lambda-2)}(\xi), \quad \forall \xi < 0. \tag{4.10}$$

Since $\int_0^1 q^{-1/(\lambda-1)}(s) ds = +\infty$ and $q'(s) \in C(0, +\infty)$ is monotone decreasing, we get $\lim_{s \rightarrow 0^+} q'(s) = +\infty$. Hence

$$\lim_{\xi \rightarrow -\infty} C(\xi) = +\infty.$$

Letting $\xi \rightarrow -\infty$ in (4.10), we get the latter of (4.8).

The proof of (4.9) is the same as (3.8) and the proof of the proposition is complete. \square

Since problems (1.2) and (1.3) are equivalent to problems (2.2) and (4.1), we get Theorems 1 and 3 with $0 = w_- < w_+$ from Proposition 4.1–4.3 directly. For Theorem 4, we only notice that

$$u(x, t) = w(xt^{-1/\lambda}), \quad -\infty < x < +\infty, \quad t > 0$$

is a solution of the Cauchy problem (1.1) and (1.4), where w is the solution of problems (1.2) and (1.3) with $w_- = u_-$ and $w_+ = u_+$.

Acknowledgements

The research of the first and third authors was supported by the Grant for the project of the MOST of China and the research of the second author was supported by the CityU Strategic Research Grant of Hong Kong, #7001330.

References

- [1] W.F. Ames, *Nonlinear Partial Differential Equations in Engineering, II*, Academic Press, New York, 1972.
- [2] R. Ana, L.V. Juan, Obstructions to existence in fast-diffusion equations, *J. Differential Equations* 184 (2) (2002) 348–385.
- [3] D.G. Aronson, L.A. Caffarelli, S. Kamin, How an initially stationary interface begins to move in porous medium flow, *SIAM J. Math. Anal.* 14 (4) (1983) 639–658.
- [4] F.V. Atkinson, L.A. Peletier, Similarity profiles of flows through porous media, *Arch. Rational Mech. Anal.* 42 (1971) 369–379.
- [5] F.V. Atkinson, L.A. Peletier, Similarity solutions of the nonlinear diffusion equation, *Arch. Rational Mech. Anal.* 54 (1974) 373–392.
- [6] J.R. Burgan, A. Munier, M.R. Feix, E. Fijalkow, Homology and the nonlinear heat diffusion equation, *SIAM J. Appl. Math.* 44 (1984) 11–18.
- [7] L.A. Caffarelli, A. Friedman, Regularity of the free boundary of a gas flow in an n-dimensional porous medium, *Indiana Univ. Math. J.* 29 (1980) 361–389.
- [8] P.A. Clarkson, E.L. Mansfield, Symmetry reductions and exact solutions of a class of nonlinear heat equations, *Phys. D* 70 (1993) 250–288.
- [9] J. Crank, *The Mathematics of Diffusion*, Oxford University Press, Oxford, 1975.
- [10] E. DiBenedetto, *Degenerate Parabolic Equations*, Springer, New York, 1993.
- [11] C. Ebmeyer, J.M. Urbano, Regularity in Sobolev spaces for doubly nonlinear parabolic equations, *J. Differential Equations* 187 (2) (2003) 375–390.
- [12] J.R. Esteban, J.L. Vazquez, Homogeneous diffusion in \mathbb{R} with power-like nonlinear diffusivity, *Arch. Rational Mech. Anal.* 103 (1988) 39–80.
- [13] P.G. Estévez, Changzheng Qu, Shunli Zhang, Separation of variables of a generalized porous medium equation with nonlinear source, *J. Math. Anal. Appl.* 275 (1) (2002) 44–59.
- [14] V.A. Galaktionov, Invariant subspaces and new explicit solutions to evolution equations with quadratic nonlinearities, *Proc. Roy. Soc. Edinburgh* 125 (1995) 225–246.
- [15] A.S. Kalashnikov, Cauchy problem for second-order degenerate parabolic equations with nonpower nonlinearities, *J. Sov. Math.* 33 (3) (1986) 1014–1025.
- [16] A.S. Kalashnikov, Some problems of the qualitative theory of nonlinear degenerate second-order parabolic equations, *Russian Math. Surveys* 42:2 (1987) 169–222.

- [17] J.R. King, Some nonlocal transformations between nonlinear diffusion equations, *J. Phys. A* 23 (1990) 5441–5464.
- [18] J.D. Murray, *Mathematical Biology*, Springer, Berlin, 1989.
- [19] C.Z. Qu, Classification and reduction of some systems of quasilinear partial differential equations, *Nonlinear Anal.* 42 (2000) 301–327.
- [20] E.A. Saied, R.A. El-Rahaman, On the porous medium equation with modified Fourier's law: symmetries and integrability, *J. Phys. Soc. Jpn* 68 (1999) 360–368.
- [21] A.A. Samarskii, V.A. Galaktionov, S.P. Kurdyumov, A.P. Mikhailov, *Blow-up in Problems for Quasilinear parabolic equations*, Nauka, Moscow, 1987.
- [22] C.J. Van Duijn, L.A. Peletier, A class of similarity solutions of the nonlinear diffusion equation, *Nonlinear Anal.* 1 (3) (1977) 223–233.